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Question Number : 1 Question Id : 3838232561 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In the following group of plants, sporophytes are dependent on gametophytes

%1808 ), © JEaHoeS VDGO, HOTFIDEB0 BFEIE GOk
Options :

Bryophyta
1 v (RO Er

Pteridophyta
, x DOEDEr

Gymnosperms

3 % DIY5De3 Jgyen

Angilosperms
4 % 85902 ToEyen

Question Number : 2 Question Id : 3838232562 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Assertion (A): Endosperm 1s haploid in Gymnosperms

Reason (R): Female gametophytic tissue acts as endosperm in Gymnosperms

D)B0 (A): DS oI It0 HENBE0

$580 (R):  ASSDTOS Q) DOTrZS §692500 ©0%089)50 5B
TR

The correct answer 18

TS INEINIARNG)

Options :

(A) and (R) are correct. (R) is the correct explanation of (A)
1. v (A) 0BA5 (R) €0 QORDD. (A) 50 (R) QO dd0€

(A) and (R) are correct, but (R) is not the correct explanation of (A)
5 % (A) HBOS (R) &0 DOTN, SR (A) 50 (R) BT DeIBED ¢

(A) 1s correct but (R) is not correct

3 % (A) SETRA 5°Q (R) DOBDSE 5°¢

(A) 1s not correct but (R) is correct

4 % (A) OIS 5°¢% 5% (R) DOPOIS

Question Number : 3 Question Id : 3838232563 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Assertion (A): Ascospores are produced endogenously in ascus

Reason (R): Basidiospores are produced exogenously on the basidium
QIS0 (A): ) I 89, 0S 0SSSOMT &I
G0 (R):  BOAXDIFIE) BIAOHO 2 2eFPASOMT &I
The correct answer is

PVJOINESIN VI )N T

Options :



(A) and (R) are correct. (R) is the correct explanation of (A)
% (A) 80 (R) e HOTS. (A) %o (R) HOTS DaSSe0

(A) and (R) are correct, but (R) is not the correct explanation of (A)
5 o« (A) HBA (R) €0 DETX, SR (A) 50 (R) BT DeIBe 5°¢»

(A) 1s correct but (R) is not correct

3 % (A) SOBRA 5°Q (R) DOBOISE 5°¢H

(A) 1s not correct but (R) is correct

4 % (A) DODIA 570 5 (R) OIS

Question Number : 4 Question Id : 3838232564 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
:N.AThink Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Match the following

1808 e 2908508
List -1 List —1II
e - | A
A | Pyriform shaped gametes [ | Cyanophyceae
BOH0c @8 HOTrIDeren HONSTD
B | Auxospores [T | Rhodophyceae
TISATVAION B
C | Carpogonium [II | Diatoms
58P RGN0 05
D | Hormogonium [V | Pheophyceae
JE N0 R0
The correct answer 1s
QB NeATN0

Options :



1. = A-1V, B-II, C-III, D-I

, % Al, B-IIl, C-l, D-IV

3 ¢ A-1V, B-lllI, C-lII, D-I

4 % A-1, B-II, C-III, D-IV

Question Number : 5 Question Id : 3838232565 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
The number of stamens found in a single male flower of Cyathium inflorescence is
HOSPAOH0 HRINTLHOES 28 HDA HN)0S &OT T oS
Options :

Many
1. % =80

Three

2. % oddIPCA)

Two

3. % OOCD

One
4. 2,83

Question Number : 6 Question Id : 3838232566 Question Type : MCQ Option Shuffling : Yes



Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
‘Pepo’ fruit develops from the following type of ovary
R D00 1808 G578 TOAN @000 D0G @92)S)E WO

Options :

Tricarpellary, Syncarpous, Unilocular, Parietal placentation

| v BDOAFANS0, HOASNE0, HEDOANS0, F0cd§ OBTSI0

Tricarpellary, Syncarpous, Trilocular, Parietal placentation
5 % |BDOAFANS0, SOOINEO, |BDOANS0, Suchs 0T 0

Tricarpellary, Syncarpous, Unilocular, Axile placentation

5 % BIORFANS0, H0ONE0, NEDANEB0, ©8 AH ©OETSI0

Tricarpellary, Syncarpous, Trilocular, Axile placentation

4 % [BIOBFANB0, SOOI, (BDOANS0, @8 AH SOBTI0

Question Number : 7 Question Id : 3838232567 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Match the Following
1808 ¢3Q 2838508

List — I (Plant name) List — II (Tendril modified from)
D@ — 1 ([E D) | D& — 11 (DO Erarosso)
A | Cucumber [ | Petiole
S0%00200 2| €909 050
B | Grape [ | Terminal leaflets
8. §' | ed5°en
C | Pisum IIT | Terminal bud
20 el Sl
D | Nepenthes IV | Axillary bud
506 B3 Dol
The correct answer is
QBN DAE°0

Options:

1. % A-ll, B-I, C-Il, D-IV

, » A-l, B-II, C-I, D-IV

3 % A1V, B-Il, C-1I, D-I

4. v A-IV, B-III, C-II, D-I

Question Number : 8 Question Id : 3838232568 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The ploidy of “perisperm’

‘DBWBIB0’ TWE), 1B ITF Hops Ve (ond)

Options:



Question Number : 9 Question Id : 3838232569 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Intine of pollengrain is made up of

DOHKBENS) 9058 238582385250 (Intine) A S IR

Options :

Sporopollenin

1 % FYOFSIS

Cellulose and Lignin
5 % NS HBA OR)S

Chitin and Lignin
L« BEBS 6% ORYS

Cellulose and Pectin

4 v VS HBAW DES



Question Number : 10 Question Id : 3838232570 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The ratio of microspore mother cell to male gametes in a typical angiospermic plant
859802 IO ArE 10PN SrdySerds, Y HoTriDeredd His Ko
A8

Options :

1. % 1:1
2. ® 1:2
3 % 1:4

4. ¢ 1:8

Question Number : 11 Question Id : 3838232571 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
“Families of flowering plants™ book was written by

“TFDOD 8D DIB0H T Y’ HAT) FDODIE
Options :

Bentham and Hooker

1 % 2050 B0 JVED

Engler and Prantl
5 % DOND DB (r0e3D



Hutchinson

3. ¢ PRND

Linnaeus

4 % OTADHD

Question Number : 12 Question Id : 3838232572 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
:N.AThink Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Match the following

1808 ¢3Q) 2365080t 0e30
List—1 List —1I
e - | e -l
A | Red sander I Dracaena
A BTI0B&0 (o
B | Indian rosewood Il | Pterocarpus
20809® 5E HB A TSR OALS
C | Flame of the forest | IIl | Dalbergia
D 0 & 0 @005
D | Red dragon IV | Butea
ol (= aIN AVIA[OV
The correct answer is
AN VIARNTO
Options:

. % A-Il, B-I, C-IV, D-III

> % A-IV, B-I, C-II, D-III

3 % A-Il, B-Ill, C-I, D-IV



4. ¢ A-ll, B-lII, C-IV, D-I

Question Number : 13 Question Id : 3838232573 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
The following type of ribosome sub-units are present in an eukaryotic cell
Q230(¢58 802065 (808 &8 TOAS BEFD) G- DSTeTe GO

Options :

308, 508 only
1 = 308, 508 S

408, 60S only
, % 408, 60S (5D

508, 60S only
5 % 508, 60S S5

308, 408, 508 and 60S
4. 308, 408, 508 8akw 60S

Question Number : 14 Question Id : 3838232574 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The site of t-RNA synthesis
t-RNA ¢5¢$)83 (DTF0
Options :

1.



Cytoplasm
¢ PO (869(9550)

Nucleus

, » S0(&%0

Ribosome

3 % OB

Centrosome

4 % QO P

Question Number : 15 Question Id : 3838232575 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

DNA molecule having the length of 68A°, contains 10% Adenins. How many number of
hydrogen bonds are present between nitrogen bases totally in that DNA?

68 A° &r¢ha EORS DNA & 10% 3TN $06). & DNA 00y S|S2Q Fo°e)
DAS GOB B0 IFEBA 20T IV

Options:
1. % 44
2.+ 56

3. % 20

4 % 40



Question Number : 16 Question Id : 3838232576 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Assertion (A): Crossing-over leads to genetic recombinations
Reason(R): Crossing-over is the exchange of chromatin bits between two sister chromatids
of homologous chromosomes
Q7)B0 (A): DVDONO (crossing-over) I 236§ a)ns0TRTEN SN
S000 (R):  AAN0E’ By 283, Heersch \ERrIFS) SR K6
ESre3R) SHcd5 28rhHed

The correct answer 18

STOINRAN W ARNo)
Options:

(A) and (R) are correct. (R) 1s the correct explanation of (A)
1 % (A) 0OAW (R) e QENAN. (A) 30 (R) QB DadBED

(A) and (R) are correct, but (R) is not the correct explanation of (A)
5 % (A) HBASW (R) €0 DO, SR (A) 50 (R) HOTS eSS 5°¢H

(A) is correct but (R) is not correct

3 v (A) SBBIE 5 (R) SO 5°¢

(A) 1s not correct but (R) 1s correct

4 % (A) DBTIE 5°¢% 5% (R) OIS

Question Number : 17 Question Id : 3838232577 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



The following type of cell divisions occurs in microspore mother cells to increase their
number in microsporangium

Ar§ 120D2r30008 K8 00 DsErSySEren ¢ 50955 DOETHLR §08
35°R8 TOAN Een3en AN

Options:

Meiosis

| % AR (5.00888 D)

Mitosis
5 @ DETAN (D eI23)

Amitosis

Endomitosis

Question Number : 18 Question Id : 3838232578 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The following characters are found common to both mitochondria and chloroplast
DE'TO AT AN ST (50T BOSOBS T sy & (§00
O GO
A.  Double membrane cell organelles
B0 & sere $OR &OT Seromre
B.  Can synthesize ATP’s
ATP O b )¢ Taiere)
C.  Contains ds DNA, 70s ribosomes
ds DNA <8050 70s BS' I OG0
D.  Found in all living cells

©Q) BSEETOS GOHD



Options :

A, B only
| = A, B ST

A, B, C only
, « A, B, C S

A, C, D only
3.$ A.C,DJ&J‘L&&

A, C only
4 % A, C (S

Question Number : 19 Question Id : 3838232579 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Lateral roots develop (originate) from the following tissue

T35 I (80 89250 OB DB (€5¢5)N0TV)
Options:

Epidermis
1 % 2%0r§TIO0

Hypodermis
5 x @350

Endodermis

3 = @053 )50



Pericycle

4 v D0V 80

Question Number : 20 Question Id : 3838232580 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Among the following the most important pollinator for agricultural purposes 1s

808 TS’ 597709 0208 €55 )HOS’ (G 2P FN0T oK H0HE),
IS5 880

Options:

Silkworms

| % DEP HDHED

Honeybees

> v Baesren

Buttertlies
3 % EFSEDenden

Nematodes

4 % SNEEY

Question Number : 21 Question Id : 3838232581 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The following is not a microelement

& 1808 S 82 S0 S



Options :

1. % Zn

2 % Fe

3. % Cl

4.v P

Question Number : 22 Question Id : 3838232582 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Match the following

1808 73R 2380w
List -1 List—11
2 - | AN |
A | Adenine derivatives I Abscisic acid
RS Eeh T e ©8) Y05 &0
B | Carotenoids derivatives [I | Kinetin
TG &b )Ty e SR AN
C | Synthetic auxin [II | Ethylene
H03e 88)1S BOS
D | Respiratory climactic [V | Napthaleneacitic acid
F 508l Sar§e3s TROS 38 20
The correct answer is
PO INENIN VAN Te!
Options :

1. = A-II, B-IV, C-IlI, D-I



, % A-Il, B-II, C-IV, D-I
3 » A, B-IV, CI, D-II

4. ¢ A-1l, B-I, C-IV, D-III

Question Number : 23 Question Id : 3838232583 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The first reaction in photosynthesis is

88223055 DO 8OHES Bcses <38

Options:

Photolysis of water

| % SPOBRO DT IS 5SS

Excitation of chlorophyll molecule
, » $TDS @) &B20 TOHE

Reduction of CO-
3 % COz §.0508680

Utilisation of assimilatory power

4 % S0NEd8es 38 DATriio

Question Number : 24 Question Id : 3838232584 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0



Correct Marks : 1 Wrong Marks : 0
Find out the correct statements among the following

& (808 TS’ OB 5500 HOohod
A. In Cy plants photorespiration is absent

Cs I8, 0 508753805 G0BE
B. In photorespiration pathway there is no synthesis of ATP and NADPH
5087 9 8ar D05 ATP 8050 NADPH €0 H0RE 5%
C.  Cyplants are photosynthetically more efficient plants
8569230500033 85 DBOM Cs INEEN DeNP0d )
D.  Kranz anatomy is found in C4 and CAM plants
C4 SO0 CAM 00’ (57025 ©0e8) 07690 G0EN0H

Options :

A and C only
1 % ANBASD C S

A, B and C only
5« A, B OO C Sy

A, Cand D only
3 % A, C 0805w D S5

A only
4 % A TS

Question Number : 25 Question Id : 3838232585 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
During the process of aerobic respiration O, utilisation occurs in the following stage only
FOINNTS 3¢ 809 (8% (808 IS’ Sr 02 DARrA0NESD

Options :

1. %



Glycolysis
F5OBD

Glycolysis and Krebs cycle
5 % 35OV HBAW B ) SO

Krebs cycle and ETS
3 % 32 SOO0N0 OO ETS

ETS (Electron Transport System)
4 ¢ ETS (QO[F'Q ST S§0)

Question Number : 26 Question Id : 3838232586 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The final acceptor of e (electrons) during non-cyclic photophosphorylation is

&350 SFOBTI)IEBAS S’ & (AOFR)) &0 DQDIET 256036

Options :
1. ® NADP
> % NADPH;

3. ¢ NADP"

4 % H20



Question Number : 27 Question Id : 3838232587 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
In Phloem the food material is mostly translocated in the following form

N8 €200 SFENTTe0 80T & (808 ErdoeS Earer Tokued

Options :

Glucose

1w (0SS

Fructose

5 % IDEF

Sucrose

3 o S

Starch
4. % w0

Question Number : 28 Question Id : 3838232588 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Cytochrome ‘C’ transfers the electrons between

5D ‘C° dOTS,) A0 DI 05§ BaTed® A0

Options :

Complex I and 11
1 % 0080 1 HBakw dofRo I



Complex II and III
D080 11 BN Hodno 11l

Complex III and IV
3 v 0080 I HBA HosNo IV

Complex IV and ATP synthase
4 % V05RO IV HBAW ATP doieS

Question Number : 29 Question Id : 3838232589 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The type of nucleic acid found in a virus

S8 S &0 Srdows esedo B%o

Options :

DNA only
1 % DNA Sr|edad

RNA only
5 % RNA (&3

DNA or RNA
3. ¢ DNA S RNA

DNA and RNA
4. * DNA s08050) RNA



Question Number : 30 Question Id : 3838232590 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Match the following

1808 3R 2880
List—1 List—1I
e - | e - I
A | Behaviour of chromosomes was parallel to | I | Hugo de Vries
the behaviour of genes SOSF AR
S © (DGR B§eHo) (DSBS
Qo0
B | Rediscovery of Mendel’s experiments [I | Alfred Sturtevant
0O (DAFren 38 e | 8)& YBT0d
C | Distance between genes on chromosome [IT | Correns
TN 20590 Desg Brdo §8)
D | Mutations [V | Sutton & Boveri
&30 SGren AR & IO
The correct answer is
NJOINESSVEARNTG)
Options :

1. % A-IV, B-lII, C-I, D-II

, % A-IV, B-II, C-I, D-III

3 ¢ A-1V, B-III, C-II, D-I

4 % A-l, B-II, C-III, D-IV

Question Number : 31 Question Id : 3838232591 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time



:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
[f a heterozygous tall plant is crossed with a homozygous dwarf plant the % of progeny
having dwarf character is

2,8 D02 &rChed ) D002 &7 IS 08B0 BEI™ ¢S
S S50 &R ¢ ©F £90 (FE)©) TS

Options :

1. % 0

2. % 25

3.+ 50

4. % 100

Question Number : 32 Question Id : 3838232592 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The percentage of “ab’ genotype gametes produced by ‘AaBb’ parent plant is
AaBb 23:5% R08), 0B BT ‘ab’ 20557 HOTFHDFE) Fedodn

Options :
1. % 50

2 o 25

3. % 12.5



Question Number : 33 Question Id : 3838232593 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Find out the correct statements among the following

& 1800 TS DOTS 55 HBood

A.  DNAis (-Ve) charged, Histone proteins are (+Ve) charged
DNA (-Ve) 20emeh )8 37y, a7FS (939 (+Ve) dveeh i e37R)
$OREG0RD

B.  DNAis (+Ve) charged, Histone proteins are (-Ve) charged
DNA (+Ve) S5 e53Q), P (63 (-Ve) amoereh )8 37y $OA
= JO VNN

C.  Euchromatin is transcriptionally active
S rES ‘@S0’ dars (Soirdoso

D.  Euchromatin and heterochromatin both are transcriptionally inactive

O ErE3R 00k WET |§ireds Bodr edhSpso ders ok Serdo

Options :
1.« AC
> % B,C

3. % A, D

4. % B, D

Question Number : 34 Question Id : 3838232594 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



The haploid content of human DNA contains

SP3HR DEVBESS ¢y DNA S S0BE

Options :

. »33x10° bp

.+ 33x10° bp

. » 4.6x10° bp

4 % 4.6x10° bp

Question Number : 35 Question Id : 3838232595 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
UUU, CCC, AAA, GGG are the codons codes for the following amino acids respectively
UUU, CCC, AAA, GGG T Tmen 1§08 &S e 58 Toi 98 S

Options :
1. % Phe, Val, Gly, Lys
> « Phe, Pro, Lys, Gly

3. % Phe, Gly, Pro, Asp

4 = Gly, Asp, Lys, Pro

Question Number : 36 Question Id : 3838232596 Question Type : MCQ Option Shuffling : Yes



Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Identify the correct statements among the following
808 FES A0 x50 HBodod
A. RNA interference (RNAI) takes place in all eukaryotic organisms as a method of cellular
defence
2,8 869 BE £ OB RNA S5885600 (RNAI) ©R) dsSo|d8 Zeyod adbeod
B. Bt-toxin gene, CrylIAb controls cotton bollworms
Bt-£78 )% 2aged), CryllAb (8505 SOT HGHOd AoHoeowhd
C. Mycorrhizae helps the plants for more absorption of potassium
8D (A0 Essireren) I oS rernoHo ®O FNnt GHarHIRS
D. Elusion is a technique of extracting separated bands of DNA from agarose gel

RG2S 008 DA DNA 200 ;90T 2.8 o8BS HE domad

Options :
1.« A,B,C
> % B,C,D

3.$A,C1D

4 v AB,D

Question Number : 37 Question Id : 3838232597 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Match the following

%3308 TR BSHGI0G
List—1 List —1I
e - | A A |
A | pBRo2 [ | Tojoin DNA fragments
DNA 08,00 @e380therdy
B |T-DNA [T | Plasmid with ‘cos’ site
‘cos” 30 EDS &
C | COSMID I | E. Coli
(5"0&R) .50
D | DNA Ligase [V | Agrobacterium tumifaciens
DNA 87 & FerS80%0 FTDRANS)
The correct answer 1s
PSINESIN VI AR NTo)
Options:

1. = A-IIl, B-1V, C-I, D-II

2 A-lIl, B-1V, C-II, D-I

3 % A-IIl, B-I, C-II, D-IV

4 % A-III, B-II, C-I, D-IV

Question Number : 38 Question Id : 3838232598 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Identify the correct statements among the following
808 RS’ DB PO hiodod
A.  Probes are generally ss RNA or ss DNA
¥ 0 erdeaor ss RNA S ss DNA
B.  Probes are complementary to desired DNA
0 DNA 0 (882 &) 00ay 357
C.  Theefficiency of uptaking of DNA fragments by bacteria decreases when they are
treated with Ca™ ions
2780057 Ca? & 16365 TS 738 DNA 08000 S 20tHE 48 ethed
D.  Cloning vectors should have low molecular weight

§0N arrE0 S50 @enerdo §éome)

Options :

A, B, C only
| % A, B, C SreaD

A, B, D only
5 » A, B, D Sr(SD

A, C, D only
3 % A, C,D ST

B, C, D only
4. % B.C.D &“Léﬁ)

Question Number : 39 Question Id : 3838232599 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Use of microbes to remove the toxic (waste) substances that are released into the
environment is

TFS60SE AN TS (558) NTT O A0 A8 YO
DNOA0NE



Options :

Biofortification
| % DAPODTAS

Bioremediation

> ¢ DBTFODADAS

Bioterrorism

53« O BBE20

Bioinformatics
4 % DORS)0"2¢38 )y

Question Number : 40 Question Id : 3838232600 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Match the Following

1808 3R 23¢80BTNN
List —1 List —II
)& — | e 11
A | Saccharomyces | | Statins
FEEDID Sy
B | Aspergillus [ | Cyclosporin A
3000 V58 A
C | Trichoderma [T | Citric acid
IBSBo (438 esdo
D | Monascus IV | Ethanol
AR OSSO
The correct answer 1s
ST INEN NV N T
Options :
1. = A1V, B-I, C-II, D-III
2 A-IV, B-Ill, C-I, D-II
3. A-IV, B-lIlI, C-III, D-I
4 v A-1V, B-lII, C-lI, D-I
Zoology
Section Id : 38382359
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory




Number of Questions : 40

Number of Questions to be attempted : 40
Section Marks : 40
Enable Mark as Answered Mark for Review and

Clear Response: Yes
Maximum Instruction Time: 0
Sub-Section Number : 1
Sub-Section Id : 38382359
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 41 Question Id : 3838232601 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Study the following and pick up the correct statements
[ Greater biodiversity is found in temperate regions
II.  Invasion of alien species 1s a threat for local species
. Loris tardigradus is one of the threatened species in our country
[V.  Abiographic region with significant reservoir of biodiversity that 1s under threat of
extinction from humans is called a sanctuary

808 are3Q 5000 TR, AT ©oFen HBS0d

L @08 3550 0ade Hodered SN0

L D87 ZRON (HST RS0 SO RS 27e ®0S800 ST (Hrdo
GO0

M, &S8O ErGisn 5 B0 ©0s0)%) rdd st

IV, S5)R SEe0m denadsdy Hiahs ES I8 N0dE e SolerenT GoR
B3 SHYE (DTToOh eBasrderien @0t

Options:

| % LTI

5 1L



5w MLV

4w LI

Question Number : 42 Question Id : 3838232602 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Species is considered as a group of individuals which are showing similarity in karyote.

Hence, species 1s a

28 27038 TOANS Zehon 2.3 S5 (EZrFE WO D806 WrHRFon, St 2re 2.8

Options :

Breeding unit

1 % (D2 (e°A0

Ecological unit

5 % BTIVED (DATEIO

Evolutionary unit
3 % 2O (DTEI0

Genetic unit

4 v 200§ [0T°EI0

Question Number : 43 Question Id : 3838232603 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0



Correct Marks : 1 Wrong Marks : 0

Assertion (A): Most of the cranial bones are dermal bones

Reason(R): They are formed by the ossification in the embryonic mesenchyme

DIIS0(A): Er00SR @8 ario ddngen 98 05men

SG0(R): 098 00 TnE) DCS 125760 ¥0er00  @RS80 TG0
SO B IGBT O

The correct answer is

NJOINFSN VI ARNT®

Options :

(A) and (R) are correct. (R) is the correct explanation of (A)
1. (A) DBAW (R) 20 SBQHA. (A) 80 (R) QOQD DO

(A) and (R) are correct, but (R) is not the correct explanation of (A)
5 % (A) HBAW (R) €0 ABTDIY, SR (A) 80 (R) QBT D5 5°¢0

(A) 1s correct but (R) is not correct

3 % (A) DODIB R (R) OIS 5°¢»

(A) 1s not correct but (R) 1s correct

4 % (A) QOIS 570 5% (R) OIS

Question Number : 44 Question Id : 3838232604 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Match the following

808 3R 2383805
List—1 List—2
Ze - | A !
A | Basophils I Microscopic police men
BIFDON 8y Gre B8 8 e
B | Esinophils II | Macrophages
B DO N PO 258 50N
C | Neutrophils [T | Immunity
AR (AFSOION 36 LS
D | Lymphocytes [V | Heparin
Q0T Y FARONN
V | Antigen — antibody complexes
(D3 298 e §.8 doSaren

The correct answer is
Q0N DFPET0

Options:

1. ¢ A-1V, B-V, C-I, D-III

5 % A-IV, B-V, C-II, D-I

3 % A-Ill, B-L C-V,D-IV

4. % A-V, B-1V, C-III, D-II

Question Number : 45 Question Id : 3838232605 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Pseudocoelom is the body cavity of

s 85505780 & 22HereS &oenod

Options:



Flat worms

| DO HEY HEKDHED

Earthworms
2 % 0ot o)

Round worms

3. v DO(C8E3 Horen

Acorn worms

4 % 5°0) orden

Question Number : 46 Question Id : 3838232606 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Study the following and pick up the correct combinations:

1308 a¢3Q ©¢50HN0 TR BN DFV0) O Hdodod

S. No Phylum Larva Example
8. NO. S0 erO°§ G OE)
[ Annelida Trochophore Nereis
O3OT SEYE K63
I Mollusca Veliger Periplaneta
OV, 3020 20T
11 Hemichordata Tornaria Balanoglossus
TNSYEr ¢r3) 805 TS
A% Ctenophora Dipleurula Asterias
SSror Brser JYEONTR

Options :

L w L



5w L 1II

3w L1

4 % ILIV

Question Number : 47 Question Id : 3838232607 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Molluscs having closed circulatory system are included in the class

05985 (HDBED 3535 EDAS DO, D & DeyifoeS Tom ) B
Options:

Gastropoda
| » Mo

Cephalopoda
5 ¢ DS

Scaphopoda
3. % T

Pelecypoda
4. % ROV

Question Number : 48 Question Id : 3838232608 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0
Match the following

1808 ¢3Q) 288508
Scientific name Common name
@*Lﬁgmmé)o PO NP0
A | Ornithorhyncus [ | Flying fox
&8) $60850 NN
B | Pteropus II | Emu
LIS AW
C | Coracias [T | Duck billed platypus
§07000%0 23°¢5) 080, e300
D | Dromaeus IV | Parrot
(BODD 0% e
V | Blue jay
O
The correct answer 1s
NSINESIN AN Te)
Options :

1 % AL, B-I, C-IV, D-II

> % A-Il, B-V, C-I, D-III

3 % A-1V, B-IIL C-II, D-]

4. v A-lll, B-1, C-V, D-II

Question Number : 49 Question Id : 3838232609 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Eggs of reptiles are

HBDFeS” K &: 35208 Todhean



Options :

Microlecithal and cleidoic

1% Q82 DesEAiNS Ok §rzron’

Mesolecithal and telolecithal
5 % 0 VSEANS HBAW S BIGS

Megalecithal and cleidoic

3 v OO DSBFANS HBAKW Scaron§

Mesolecithal and Isolecithal

4 % S0ES DSBEANES HOAM DI

Question Number : 50 Question Id : 3838232610 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Flagellum in Polytoma is

TS S E7°250 &8 558 TOLHEHHOD

Options:

Stichonematic

- REDETeSS

Pantonematic

> % aroeSAAIre38

Acronematic

3 v AERVSTe3S



Anematic

4. % odedode38

Question Number : 51 Question Id : 3838232611 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Study the following and pick up the correct statements

1806 TR ©¢50580 TR, DB ®oFON H0HOR

L. Opioids are obtained from Cannabis sativa
$02) DR VBT NOG 2TBFEIN NO|fara
I1. Heroin is obtained by the acetylation of Morphine

P8I0 A JRBBAR DONEIO 3O TTT°0NR SO
[II.  Barbiturates cause sleeplessness

257080 50EW Q& *BeneN
IV. Benzodiazepines are tranquilizers

BOS BOSTR M &N (DT0S5HED

Options :
1% LI
5 o I IV

5 % LIV

4« 1L TV

Question Number : 52 Question Id : 3838232612 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0

Assertion (A): Syngamy in Plasmodium is anisogamy

Reason (R): The gametes are similar in size

DR)H0(A) : T B0 DOANE DOTFHO 9 DOTBFHO
525690( R) : HOTFH Dezeen 2.8 HOIT0S &oEron

The correct answer 1s

QBN RGO

Options :

(A) and (R) are correct. (R) is the correct explanation of (A)
|« (A) B0 (R) &0 HOTID. (A) & (R) SO o562

(A) and (R) are correct, but (R) is not the correct explanation of (A)

5 % (A) BAWM (R) €0 HOBS, 5% (A) 30 (R) SO DdBed 5°C

(A) is correct but (R) is not correct
3 v (A) BB 5%V (R) DO 5

(A) 1s not correct but (R) is correct

4 % (A) QOIS 570 5% (R) SOBDIE

Question Number : 53 Question Id : 3838232613 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Parasite responsible for hyperplasia in its host is

& 0BT oS’ IFNOTVATT H SERVS DTS 2B

Options:

Wuchereria

1. % &S508alr



Plasmodium

5, % DRABADo

Sacculina

3 & SLsdD°

Fasciola

4 v FROTrer

Question Number : 54 Question Id : 3838232614 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Benign tertian malaria is caused by

DT BN HSHASTD EDA0TH

Options :

Plasmodium vivax

1. v B0 FE)

Plasmodium ovale

, x Bavo 23S

Plasmodium falciparum

3. # ?ﬁ?ﬁﬂﬁ@ Q"C’.ﬁﬁ} 200

Plasmodium malariae

4. % ‘?’r@?d@@ﬂ HEED



Question Number : 55 Question Id : 3838232615 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

These cells of cockroach contain symbiotic bacteria

S500E S (80O TS DI85 2r8BOST SoETon

Options :

Trophocytes
1. % (ESDED

Mycetocytes
2 v DS Y

Oenocytes
3. % &S EW

Urate cells

4. % OO0 egren)

Question Number : 56 Question Id : 3838232616 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In cockroach, egg case is secreted by these glands

FO0ES'R & OO [Rraren (MG HEN® BIBRe DT DTN

Options :

Colleterial glands

\ o Te3809S (fogen



Utricular gland

D3z |5oH

Phalic gland
3 x OF (o)

Mushroom shaped gland
4. % RN &5°6 |0

Question Number : 57 Question Id : 3838232617 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In cockroach, thermoreceptor sensillae lie
Q08 S GATTE VDI & 237H0S SOEron

Options :

In thorax

1. % &’3&056

In abdomen

) % &30S

On trochanter
3 % E8'5°000

On first three tarsomeres

4 v I0ES ek 8 HNAND D



Question Number : 58 Question Id : 3838232618 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

This rule states that with the increase of every 10° C, the rate of metabolic activities double
& QODHNO (Y0 e 10° C sl Db £ 8che Jtio B0y
©:9%000

Options :

Allen’s rule

1 % DBR) AANNO0

Van’'t Hoff’s rule

5 @ TP AAVNO

Bergman’s rule

2 % BOSES DAVS0

Jordon’s rule

4 % TS A0S0

Question Number : 59 Question Id : 3838232619 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Statement I: The animals that are capable of swimming in water are known as neuston,
Statement II; Decomposers are absent in limnetic zone

@030 L: HEBS’ SVST ASN0T 20HO8) SFETS @otrdd
0030 I1: O €38 0% AV )& 50eN &0t

The correct answer 15

NOINEMARNG



Options :

Both statements | and Il are correct
1 % @OFeN [, I OB

Both statements I and Il are false
5> % ©@OFN I, Il QB ) 5700

Statement I is correct. But 11 is false
3 % @030 1 OBA. 5% 11 OB 5°C0

Statement I is false. But II is true.
4 v ©®030 I OB 5°N. 5° 11 OB AD

Question Number : 60 Question Id : 3838232620 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Match the following

1808 7e3Q BSDB0G
List — 1 List—2
0 — | e -2
A | Nitrogen oxides [ | Oxygen transport
(23R €33 38280 ST
B | Carbon monoxide II | Biomagnification
$E)R IS 8 25 85980
C | Carbon dioxide [II | Photochemical smog
580 B e3)6 5203 SIPON FHD0D
D | Industrial effluents IV | Global warming
POROCRAVERNI (O OV XrE&00
V | Increase of BOD
BOD )50} @380
The correct answer is
PO IVENAVIARNT®
Options :

. % AV, B-1V, C-I, D-III

5 % A-II, B-II C-1V, D-V

3 = A-lll, B-I, C-V, D-1V

4 o A-IIL, B-1, C-1V, D-V

Question Number : 61 Question Id : 3838232621 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

From the cells of intestinal villi, chylomicrons are transported into the
i FAESR es0(eh g Erod 3SEE e DA SRS Sarer eyEon



Options :

Blood capillaries

1 » 08 33 orP¥en

Lacteals

5 v PEANS ew

Interstitial fluid
3 % o0G$0E (330

Veins
4, % ~den

Question Number : 62 Question Id : 3838232622 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Assertion(A) : Female human beings produce a high pitch voice

Reason ( R): The vocal cords in females are long and thick

D50 (A) : (RO D50 2P0 DO (high pitch) ¢ 0EN0S
525620 (R) : Lf’gmﬁ‘ Q50 0|80 OO, &P E5OLTON

The correct answer 1s

PVJOINPSIN I ARNTO

Options :

(A) and (R) are correct. (R) is the correct explanation of (A)
1 % (A) DOAW (R) @0 SOTDA. (A) 80 (R) SO DadSED

(A) and (R) are correct, but (R) is not the correct explanation of (A)
5 % (A) HOOK (R) €0 DO, 5 (A) 50 (R) OIS DeIGe ¢



(A) is correct but (R) is not correct

3 v (A) SBTDIE S (R) DO 5°¢

(A) 1s not correct but (R) is correct

4 % (A) OIS 570 5 (R) OIS

Question Number : 63 Question Id : 3838232623 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Statement [: Right atrio ventricular aperture in human heart is guarded by a tricuspid valve
Statement [1: Blood plasma without fibrinogen and some other plasma proteins is called

lymph

9030 SPSI K0T S HB §05 B80T B0[%0 & 2.8 (S|
S0 GO0

©0of0ll:  DDIES DO E) T (Fedsnen B 880 Tng) T &
Fa850 @otrd

The correct answer is

0N NI FI0

Options :

Both Statement I and Il are true
1 % @03 e I, 11 OB 5ed

Both Statements I and Il are false
5 % @0 I, IT SD ) 5°CR

Statement 1 is true, But 11 is false
3 v @030 I ABRE. 57 I AV 570

4, %



Statement 1 is false, But II is true

@030 [ QT 5°C0. 57 11 QTIE

Question Number : 64 Question Id : 3838232624 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

These structures eliminate sterols, hydrocarbons, waxes etc. in human beings

3575 Baro 08 QTS e, 3TE $EIN, FE) O SOATY

Options :

Lungs
| &30 B8en

Liver

7 % SPS0N0

Sweat glands

3 % 58 ((fogden

Sebaceous glands

4 v WO (JOocen

Question Number : 65 Question Id : 3838232625 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Dentalveolar joint is an example for

Boer® (Brerd en HI8 ey den

Options :



Gomphoses

Syndesmoses
5 & VOB B eV

Sutures
3. % QAT BPEN

Synchondroses
4 % DOSO|E2ren

Question Number : 66 Question Id : 3838232626 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Study the following and pick up the correct statements

1808 7¢3Q 950080 TR, DB @oFe H80HoR
[. Superior colliculi are concerned with auditory function
DOAHG SOKO) (F569 DEHEN AOHOIBTON
[I. Inferior colliculi are concerned with visual function
RODOANG 5OEO Sgar DN DOHOST oW
[1I. Pneumotaxic centre lies in pons varoli
SrsRrer8IE Bo(o S SFO S &oenod

[V. Thermoregulatory centre lies in the hypothalamus

G AADO(ET 00 EIB5050 S SoENod

Options :

. % LTI

5 1LV



5 % LI

4 % ILIV

Question Number : 67 Question Id : 3838232627 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Study the following and pick up the correct combinations

180H¢E3R @500 TR BN DEFAo)O h8odod

S.No Gland Hormone Disorder
3.00 0 RSP SN
[ | Pancreas [nsulin Diabetes insipidus
§a00 290)OS 505D BN
[I | Thyroid gland Thyroxine Tetanus
BOOEA |10 B8R Ao :T0)
Il | Adrenal glands Cortisol Cushing’s syndrome
B398, (focen | OIS %0200 OB
IV | Pituitary gland Somatotropin | Dwarfism
2O (10 FIrE1Era | Sowés o
Options :
L ow LI
5w 11, II1
3 o LIV

4 % ILIV



Question Number : 68 Question Id : 3838232628 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

These hormones are commonly called catecholamines

& ST B0 SPBFTO BN 90T S

Options :

Adrenalin and noradrenalin

1 v AATOS HOAW B ATOS

Thyroxine and calcitonin

5 % BO8IA HBAW 5O ) DS

Somatotropin and prolactin

3 % FITEERFDS HOAW (er§S

Calcitriol and aldosterone

4 % SOJErS SHBAW SS VoS

Question Number : 69 Question Id : 3838232629 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Match the following

B0 ¢3Q 23808508
List—1 List—2
O - | e -2
A | Physical barrier [ | Lysozyme
2T @580 SIBD
B | Physiological barriers I | Interferons
308 BEIHBRS ST e Q000 DTS e
C | Cellular barriers [T | Monocytes
EEaNGN 3T Gen e E
D | Cytokine barriers [V | Colostrum
VEBS @58 e SONLAY
V| Mucus membrane
333 Q0

The correct answer is
BN DAPEF0

Options :

1 % AV, B-I, C-IV, D-II

2.« A-V, B-l, C-III, D-II

3 = A-lll, B-II, C-I, D-V

4 % A-l,  B-V, C-II, D-III

Question Number : 70 Question Id : 3838232630 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0
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Hormone secreted by Sertoli cells of testis in human beings
SR S 02,0 S DTS Eezren & IS & (DAow



Options :

Testosterone

Inhibin
2. P ISPLPAINS

Progesterone

Interstitial cell stimulating hormone

4 % BOLERNANS 690 VSWBE30R TS
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Pick up the incorrect pair:

180B ¢35 53y YT 2365 TO E5d) 25 Moo

Options :

Vasectomy — male

Tubectomy — Female
2. maﬁﬁ‘gg}) = Lﬁ_}t‘.’_ll

Amniocentesis — Brain disorders

3 GOYES DB, — 0 IV ehEN



Contraceptive pill — Saheli
4 % BEINTEE Srv(eh — Ford
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If a red eyed male Drosophila and white eyed female Drosophila are crossed, the eye color

in their offspring 1s

2805 §8) Sf (BDer, Beww) §9) &3¢ (BFDer 0 N08880 TR ¢S

080 SR Yo §¢) SotH

Options :

Females red eyed and males white eyed

| o (R BHOE A E80) OO BN BeYBd Bewsy §07

All are red eyed
5 % @) D) EFy BeYen

All are white eyed
3 % ®Q) Se) §F) 22Yyen

Female white eyed and males red eyed

4 1R Ben Bend) §80) B0 HAD Bhen DBy §¢0y
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A person is with short stature, small round head, furrowed tongue and partially open
mouth and retarded physical, psychomotor and mental development. The person 1s
said to be suffering from this genetic disorder

2.8 58 &r¢3 Bero, HOWGA DI BN e, md RS Trews, 1§ o

2 )G BELOTR &0T S'Q, S0LNNAN TOSE, SrSE, D)8
D)0 S0e3 O een O &) . &8 58 & Bdg OIVBS 2
2T

Options :

Turner syndrome

1 % £8)5 DoIEN

Down syndrome

, v TS VOB

Edward syndrome
3 % D50 DOIES

Klinefelter syndrome

4 % S0 dRE Vo@D
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In human genome, the highest number of genes are present in

35788 B S0 e9eh5BE 3 05YeN &) TS’

Options :

Chromosome 13

| % 1385 8D



Chromosome 21

, % 215 FED

X- chromosome

3 % X- §3rED

Chromosome 1

4 v 1S EIPESD
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Cynognathus is a transitional form between

DADST) SR DR NS NTFPE0e5E EFHO

Options :

Fishes and amphibians

1 % D3N OO 5230 TN

Amphibians and reptiles

5 x €530 LT SDBAN HODY W

Reptiles and birds
3 % QABDYTEN HBSKN DFHEN

Reptiles and mammals

4 v DB HBA% § Scren
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Statement I:  Jean Baptiste de Lamarck stated that acquired characters are inherited to the
next generations

Statement I1: August Weisman strongly supported the view of mheritance of acquired
characters

0030 B0 e Heren ST e STo% HOENTODHA £ rAY

& el D &
@030 1 60 HETO @NN0TES ©F 2SI SR DR KT dfomd

The correct answer 18

BN VTR0
Options :

Both statements [ and II are correct
1 % @070 I, II OB

Both statements I and II are false
5> & @OF°eN [, Il QB 570

Statement I is true, but 11 is false

3 v ®030 I OBAA, 5° 11 AP 57D

Statement I is false. But II is true
4 % @030 [ OB 5°CN. 5% 1T BB
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If one species diverges to become two or more species, it is called
28 278 TR RN Bo B 0S50 DE)e 2PN GRS TN &
Ao 2F0erd

Options :

Cladogensis

Anagenesis
2. % TRV

Phyletic evolution

3 % DOEE JBeTN0

Convergent evolution

4. % @O JHOETNO
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Assertion (A): Magnetic Resonance Imaging is generally a very safe procedure
Reason (R): It does not use ionising radiation

D150 (A): @OHY0 @ D eEe Trer NG SR A0
53690 (R): 2O e9aHEGe BRI 2086 &R0

The correct answer 18

NIOINEAINARNT®
Options :

(A) and (R) are correct. (R) 1s the correct explanation of (A)
1 v (A) DBAW (R) €0 SB8QIL. (A) 50 (R) DORD 23069



(A) and (R) are correct, but (R) is not the correct explanation of (A)
5 % (A) HBAM (R) €0 SBTI, 5 (A) B0 (R) SOTDS DH3Ged 5°¢0

(A) is correct but (R) is not correct

3 % (A) SBDIB R (R) OIS 5°¢»

(A) 1s not correct but (R) 1s correct

4 % (A) SOPIE 520 5 (R) HOBIE
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Prolonged P-R interval in ECG indicates

ECG & P-R @058 23O EH30 AA Srd0od

Options :

Tachycardia
| x e85 Qasy

Myocardial infarction

)« SPTESYONS BSTEES

Bradycardia
3 v (&5 0asy

Hyperkalemia
4 % BOESOLOST
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Match the following:

1808 ¢3Q 28806
List — 1 List —2
eE - | A )
A | Direct ELISA I | Antibodies
(e858 § ELISA (3TN
B | Indirect ELISA I | Brain
(0¢85 ¢ ELISA I
C | EEG [II | Antigens
(e3e335°eN
D | CAT IV | Tomogram
& ST
V | Heart
ok
The correct answer 1s
N OIVEVN VAN
Options :

1 % A-III, B-I, C-V,D-IV

> « A-lll, B-1, C-II, D-1V

3 % A-IV, B-IIL C-I, D-III

4 % A-1,  B-lII, C-1V, D-II
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When two resistors of resistances (12312) Q and (22714) Q are connected in series, then

the value of equivalent resistance is

DB Gawen (12312) Q 8050 (227+4) Q fe> Bodh AFSEmeD 35S $ONK,

DO AV e

Options :

 » (350£7) Q

L« (350£1) O

5 % (350£12) Q



4. % [350i3) (@)
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Starting from rest a car accelerates with uniform acceleration of 4 ms for some time after

L . . . ) . .
which it comes to rest with uniform deceleration of 6 ms . If the total time of travel is 5 s,
then the total distance travelled by the car is

DT S 0B 2OHENTO 2.8 T 4 ms™ e (5 Foed 0 SO0,

ST 6 ms™ De2NES SBESNS DEO VT VA SDINA. (NS0 TR
IS0 508N 5 5 AN, T8 (AT Fnedo Arden

Options :

1.% 25 m
2.« 30m
3. % 60 m

4. ® 125 m
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Two bodies A and B are projected simultaneously with velocities 20 ms™ and 40 ms™
respectively. Body A is projected vertically up from the top of a tower of height §0 m and
body B 1s projected vertically up from the bottom of the same tower. The bodies A and B meet
in time of

(Acceleration due to gravity =10 ms )

A 8050 B 0% 30 S0 SN 20 ms™ HOKW 40 ms™ Frerd w30
580 TG, S A & 80 m IS 56 2 06 A8 AL, 5109 B &
o8 036 edhizrio K08 8 ey &R0 TSI, & Bodk SNY
50 TEF) JEY TO0

(o8 ¢ 58690 =10 ms™)

Options :

1.% 5s

2.% 3s

3.% 68

4.¢ 45
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A body is projected from the surface of the earth with a velocity of 10y/3 ms™ such that its

range is maximum. The velocity of the body at half of the maximum height is

(Acceleration due to gravity =10 ms %)

28 SIS TR T (180 T SO 25° SO Hod 103 ms™! o

820 TS, 182 JES 30 e 56 S0 o

(&8s & 580 =10 ms™)

Options:



1. % 10+/3 ms™

> v 15ms™

3. % 152 ms™

4 % 30 ms™
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A body of mass 10 kg is kept on a rough horizontal surface. If the force applied on the body is
increased by 80 N, then the acceleration of the body increases by

10 kg (63635073 (50 2.8 S 2.8 § 832 P08 DK )0 3 &OWIDR0E. 3ha)
2 (DBFAOIES 2008 80 N 200, 5805 & 15ea0eT REHSe

Options :
1. # 16 I‘I‘IS_E
2. ® 12 ITIS_:

iy |
3« 8ms -

4 % 10 ms >
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A block enters a rough horizontal surface with a speed of 6 ms™'at x=1.5 m and leaves the

rough horizontal surface with a speed of 4 ms™ at x=2.5m., If the retarding force acting

on the block is F=-25x (where F is in newton and x is in meter), then the mass of the
block is

2,8 B0} (6% § 82 HrosE $okn SR8 x=1.5mdd 6 ms™ SAS (HF00,

1=25m3E 4 ms™ SAS SO T, A} D SIBVEOMT AT 200
F=-25x (2838 F S5l & H8 ¥ 0ead &) o, B3 (969503

Options :

5« 10 kg
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A body of mass 3 kg is thrown vertically upward from the ground with a velocity of

10 ms™". If the maximum height reached by the body is 4.7 m, then the loss of energy due to
air resistance is

(Acceleration due to gravity =10 ms )

10 ms™ SK0& 3 kg (5073 16 2.8 89y 25780 K0 AQAEVYT 8 AS2A0E.
5006 TO fiBa) &) 4.7 m &0 ) &0 S0 $8ES $ORS S0

(K806 ¢ ¢ 55690 =10 ms™)

Options :



1.+9)]

2. % 18

3.% 301)J

4 % 471]
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Four bodies of masses 8 kg, 2 kg, 4 kg and 2 kg are placed at the four corners A, B, C and D

respectively of a square ABCD of diagonal 80 cm. Distance of centre of mass of the system

from the corner A is

80 om 880 K> ABCD 5800 T8y et 330 A, B, C 5800 D 8¢ sSG0™

8 ke, 2 kg, 4 kg 08050 2 kg (e300 ey mreth SO Gomrd. 280 A

D0G 23530 (50°3 30[$30 rdo

Options :
1.+ 30 cm
2 % 40 cm

3. % 60 cm

4. % 20 cm
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A thin circular ring of mass 0.2 kg is rotating about its axis with an angular speed of

S1tads™ . Two particles having mass 2 g each are now attached at diametrically opposite

points on the ring. Then the angular speed of the system is

0.2 kg (3635073 1102 2.8 08) S&'sE $08eask0 &) 63,0 80T 51 rad s Eedad

SAES 230690 TOINA. SYB0 50 2 DERIE ADDHDOYD 5

252,563 2 g (855073 K> Boch E0snO G0, 3598 Feoh S&

Options :

1. % 100 rad s™

> v 50rads™

3 % S5lrads™

4. % 102 rad s
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The amplitude of a damped harmonic oscillator becomes — times its initial amplitude A, at
n

the end of 20 oscillations. The amplitude of the oscillator when it completes 40 oscillations 1s

2,8 ©98E o8 Beso B §0a% DB 20 omren i 208 &R 89
5000 NS A & L Bty e, Boto 40 Bomen 578 T 9028 9

n

$0a d8abed



Options :

A

(4]

3
1. n
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A body weighs the same on the surfaces of two planets of densities 'p,' and 'p,'. The ratio of

the radii of the planets is
p,' 0B ', OGN Ko Bo (1s3Fe) EnBSere) aled 2§ Saba) &8 28e)
SPHe0d. & (10 aRrTe )G
Options :
P2
1.+ Pi

B

—

N
®
-

e [ Lea

. |P
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A copper wire of cross-sectional area 0.01 cm” is subjected to a tension of 22 N. If Young's

modulus and Poisson’s ratio of copper are 1.1x 10" Nm™and (.32 respectively, then the
change in the cross-sectional area of the wire is

0.01cm?® SHXS5TIS BFOI0 K 2.8 T &1 22 N © Sedsesdy 16 Tahadod. o

3%}, 050N HEF0 O o 5237 R ) SEAM 1.1x10" Nm™ H8akm 0.32,
900 B DTS FTO0 'R Sr8)

Options :
1. ¢ 1.28%10°ecm’
2. % 1.16x10°cm”

3 % 0.64x10cm’

4 % 0.58x10 °cm’
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A soap bubble is given a negative charge. The pressure inside the bubble
2,8 20 208550 20T SF0 ¥ LT, TSR S0

Options :

Increases

1. % QMDA OE

becomes equal to atmospheric pressure

5 % TTIBE DEHTRVE DXTIe0e) B0

does not change
3. % 0”0

decreases
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A wooden cube 1s floating in a bucket of water with 1 of its volume immersed. If this

bucket with the wooden block is now placed in a lift moving down with an acceleration of

% , the fraction of volume of wooden cube immersed in water is

28T, $150 88 68rmost % S8 S8 G0t 28 a9 S 50 HES

BNR0E. & TE) DSOS &) 2TE % & $86208 8058 (HOSreothtde)
2.5 09 & G0N, VS’ SDAN ) T S0 NSNOITE0 T8y, D)0

Options :

i
1.+ 4



oo | L

b2 | Lo
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The initial and the final temperatures of a black body are 27 °Cand 177 °C respectively.
The increase in the amount of radiation emitted per second is

28§90 30a) G3NE) SO aDO0K A | eden a3 ™ 27 °C o805 177 °C.
28 8% &80 ToHAAN 288620 T3E). QDS

Options :
7. % 506.25%
2 % 150.25%

3. % 225.75%

4. v 406.25%
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The change in moment of inertia of a solid sphere of mass ‘M’, radius ‘R’, for a small
change in temperature ‘At' is

(« 1s coefficient of linear expansion)

At @05 GEEHSES 50 SPEI M’ (365073, ‘R’ 350 fied 2.8 shued g0
Ty B¢ 5 27080 Srdh)

(a- BYS 58 Hheado)

Options :

2 MR ‘oAt

1. %

EMRhaa
2.¢ 3

EMRhat
3. % 5

~ MR *uAt
4. %
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The coefficient of performance of a refrigerator 1s 5. If it 1s placed in a room at a
temperature of 39 °C, the temperature inside the refrigerator is

2,8 F5O858 090(e50 T, 805TROES HEak0 5. & o@R) 39°C & e &)
2,8 KOS GO, RSO8GE AHo(e0 S el fidh

Options:



1. % 13°C

> % 32.5°C
3 ¢ —13°C
4. % —32.5°C
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The ratio of the degrees of freedom of monatomic and diatomic gas molecules is

8 DBSTENE NOAN B SDEITENE TN LMY LT e Aa)es

Options :
1. % 5:7
2.4 3:5

3. % 3:4

4. % 5:6
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An observer is standing below a freely falling source of sound of frequency 900 Hz. The
change in the frequency noticed by the observer after 3 seconds of free fall of the source 1s
(speed of sound in air is 330 ms™ and acceleration due to gravity = 10 ms™)

900 Hz 2redeayeds0 OB 059 180H8 Hehchd) .8 42 2580 80d 2.8

583058 AOVA G . B950 3 VEDL RIIIT DS Sared H690FHE
BORODS D50 'R S8y

(TOS' 5 56 330 ms™ HBO fods § 56690 = 10ms )

Options:

1. % 990 Hz
2. % 818,18 Hz

3. % 81.82 Hz

4.+ 90 Hz
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When two progressive waves given by y, =4sin(256nt) and y, =4 sin(248xt) are

superposed, the time interval between the maximum and adjacent minimum intensities is

(t 1s time in second)

y, =4 sin(256mt) OO y, =4 sin(2487t) @ BOk YT SB0ren BT ;0N80

TOBS, K83 B0 (983 o) AR BB S5 TSI

(t- T©0 oS

Options :

]
— second
1, %



— second
2. %

— second
3. ¢ 8

— second
4. % 16
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A convex lens of focal length 10 ¢m is placed coaxially at a distance of 4 ¢m to the right of
another convex lens of focal length 16 cm. If an object is placed at a distance of

8 cm to the left of the convex lens of focal length 16 cm, then the distance of the final image
from the object is

10 cm 2725055600 SO 2.8 F002758 862830, 16 cm 77250e5Se0 $OAN

SEE 02758 0800580 S (988 4 om Ar80S Q¥ orr &S 16 om
25088 SO H0275E E0ESNSE I B 8 cm EPF0S 28 S
GO, A (D202 DA IV S SrG0

Options :
1. % 28 cm
> % 40 cm

3 % 36 cm

4. ¢ 32 cm
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A prism having angle ‘0" and refractive index of the material of prism ‘n’ are related by
T ; wr $ i .
f=28in"" ﬁ If the angle of minimum deviation 1s 60°, then the angle of prism is
n°+l

D88 §00 0 B0 Y HE S8 Hheaso 1’ © s e NDowodw
|

Options :

0=2Sin"

802 A0 8890 60° 00, D% §80

1. % 34°

2.v 60°

3 = 30°

4 % 45°
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Apolaroid sheet ‘P” is placed on another similar polaroid sheet “Q” such that the angle between
their axes is 45°. The ratio of the intensities of the light emerged from polaroid ‘Q” and the
unpolarised light incident on polaroid ‘P is

©F0 35 80 45° G0 A0 28 Forrand Jof P’ & HFE Foorand Hed
‘Y R G0, Forrand ‘Q o wardeahs soe sboy Foorand P’ R
HBIHTS BLINS FOKO SISO NS

Options :

2. % 12

3% 1:43

4% 1:42
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A charged particle of mass 5 g and charge 20 pC is thrown with a velocity of 16 ms™ in a

direction opposite to the direction of a uniform electric field of 2x10° NC™'. The distance

travelled by the particle before coming to rest is

2x10° NC' 888 D (65 B35 55808 BIS' 5 g (969503 HBAKM 20 uC es350

o) 28 6396 &) 16ms™ K0S N0, VT Ve § THHT S0k §80
HAB0DS Erdo

Options :

1 = 24 cm

5 % 12 cm



3 v 16 cm

4 % 20 cm
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Two positive point charges of 10 uC and 12 pC are kept in air with a separation of
12 cm. To make the distance between the charges as 4 cm, the work done 1s

Bod &5 Do e3Fen 10 uC HBAW 12 i€ S’ 12 em ErdocS
GOVRATTON. BIT® NS AFTR) 4 cm TONEK TONSOVN DR

Options :

| % 24]

, w181

3% 9]

4 x12]
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A storage battery of emf 10 V and internal resistance 1 €) is being charged by a 100 V de

supply using a series resistor of 17 ). The terminal voltage of the battery during charging is

10 V emf 80 1 Q e9068) 830 e 2.8 HomrahE suddsro 17 Q 368 fo
ABGEE0N GHBPA0D 100 V de D80 40D ¢39B0 TP, e3380
BB esre OO ST

Options :

1. %25V
2 % 30V
L %20V

4o 15V
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In a meter bridge, when an unknown resistance ‘R’ is connected in the left gap, the null point
is obtained at 25 cm from the left end of the wire. If the resistance in the left gap 1s increased
by 100%, the distance of the null point from the left end of the wire increases by

2.8 04D D& &5, 28 BO0HA AFEWO ‘R’ & e m‘@@a AN, A5 Do)
A A D58 008 25 em SO 08, A TOSD AFT) 100% 20D,
S 85 DSG 00A FreSs Dockosy rdod nihese

Options :

| % 50%

, % 40 %



5 v 60 %

4 % 80 %
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An electron moving with a velocity of 4.8x10° ms™ enters a uniform magnetic field of 0.182 T
in a direction perpendicular to the field. The radius of the circular path in which the electron
moves under the influence of the magnetic field 1s

(Mass of electron =9.1x10™" kg and charge of electron =1.6x10™ C)

48x10° ms™ o E5eth) a8 O[T 58 A% 0020 28 EOS ey 08
31800.182 TS 53903, 9D} 068 3 8 (2750 0% JO| TR $68 &8 S
Q0

(O[T (55073 =9.1x10™ kg OO JO|F 8330 =1.6%10" C)

Options:
1.+ 1.5%107" m
2 % 1.5%10° m

3. ® 2_5:&10_"' m

4 % 2.5%10" m
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Correct Marks : 1 Wrong Marks : 0

A long solenoid of length 75 cm carries a current of 3.5 A. If the number of turns of the
solenoid 1s 600, the magnitude of the magnetic field inside the solenoid is

75 em &Gy M0 28 FURS FOTONE 3.5 A S (Dar) $OA &od.
FOToNE 'R HE 095 600 @S FOToNE SN0 @OHR,08 3(S0 Des

Options :

1. % T102 T
5 % 2.48x10° T
3. % 33'(1'0_'1 T

4 ¢ 3.52x10° T
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A coil of 200 turns and area of cross-section 5%10~ m’ carries a current of 3 A, The
magnetic moment of the coil is

200 <€D B 5x107 M’ DTS TS0 o) 2.8 &1 8 3 A 3S
DR EOR &:5) B, &1 ) AR08 (2P0

Options :
1. ® 12 ,.’i"'lL["l"l3

5> v 3 Am’?

5 % 6 Am’



-

4. % O Am-
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When a diamagnetic substance of relative permeability 0.5 1s filled inside a solenoid, then

its self-inductance

28 FOTNE S0 0g DB0HNOE 0.5 e 2,8 GO WOHAM, 08 NTF0S

R0V, TR A4000 (@SS §0

Options:

becomes doubled

1 % 0&0s) ek

becomes half

2« N0 @D

is quadrupled
3 % 070 Y MDD

becomes one-fourth

4 % PN S0k @HHHod
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When an alternating voltage given by E=100sin (10%t), where E is in volts and tis in
seconds, is applied across a capacitor of capacitance 20 pF, the peak current flowing in the
circuit is

E=100sin (10*t) & 50° Q0N 5088 SBS, (E SO &' bk t D0 &)
20 iF PR 008 28 SarRb 3 ©s80NT 8%, S00H0S 398
CNID (eFoF0

Options :

1.% 20 A

2.% 2 A

3.¢ 02 A

4. % 0.02 A
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If two electromagnetic waves with electric fields given by E, =E_sin (kr-ot)/ and

E, =E, sin (kv-ot+7); interfere, then the peak value of the electric field of the resultant

wave 1s

5@ (o Boch AohAR 08 SEOTe H5e8te0 B8R, 2O S8olo
B8, Apd A 3o

Options:

’I.%E

0



4. v Zero (Q0T°))
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If the wavelength of the incident radiation on a photosensitive metal surface 1s decreased
from 3100 A to 1550 A, the maximum kinetic energy of the emitted photoelectrons is
tripled. The work function of the metal surface is

2,8 S Xr§ ) (i Sara 900 3 DS N8B0 SEOHBYs05
3100 A 008 1550 A % SH0A, ETERS TP DT K05 Kedes 38 Srchy
BED &R0, ey S0 TE) IR (HaoHo

Options :
1. % 3eV
2. % 4eV

3. ¢ 2eV

4. % 6eV
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[n Geiger-Marsden experiment, if the initial speed of « particle is doubled, then the closest
distance of approach of the a particle from the gold nucleus

(Assume a particle is projected straight towards the gold nucleus)

AB-S28)BS (NRBPHOES o $ea0 T, (5025 & BE0x) NSNS, 208
5016980 SO0 @ 8eT® s 8508 NS ArBo

(o 87, S 20 306350 B2 (D820 T @8 Sadn)

Options :

becomes doubled

|« B0 ©95)e008

becomes quadrupled
5 % M DY 95908

becomes half

L % OO ©HB0E

becomes one-fourth

4 v TN 50 )OS
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The energy equivalent of 3.2 pg of mass is

3.2 ug (5550°38 e $8

Options :

1 % 18x10% ]



5> « 18x10%° MeV

3 % 18x10% MeV

4 % 32x10% )
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If the nucleus X**, initially at rest, splits into two daughter nuclei Y'™ and Z'*, then the
ratio of the kinetic energies of Y and Z 1s

802506’ ¥ )0 &) To|d%o X Boch 25 Soldsen Y'Y sibak 24
DAFS, Y HOAK Z Bng), Ase 3 e

Options :
1. % 5.7
2. 715

3 % 1:1

4. 49:25
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In a common emitter transistor circuit, if the emitter current is changed by 4 mA, the
collector current changes by 3.5 mA, then the current gain is

2.8 &0 GEEE (Er)N0 SO0HOS GTPEE0 1HTTen & 4 mA S8
T, VEBES (NP0’ S 3.5 mA, 900 DS (NI 598

Options :

1. % 0.875

2. % 3.5
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The power delivered by the battery shown in the figure is

(Take the forward and reverse biased resistances of the diode are zero and infinity
respectively)

N0 BFHN ST NONE T AP0

(TG HBFE) B0 SFFE) AFTOD SEONT ), O e@SoSorm
S0Eun)

D, 100

D, 200)

Options :

1.¢ 250 W

2. % 5.00 W

3.% 7.50 W

4. % 375 W
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A 5 kHz frequency signal 1s amplitude modulated on a carrier wave of frequency 2 MHz.
One possible frequency of the resultant signal is

2 MHz 73520050 $OB 2.8 538 8002 5 kHz radsa)n50 $ORN DoSeR)
BON DO SredBR THE. DS 0SS0 TE) AS50ahg 2.8 AedeRyds0

Options :
1.+ 1995 kHz
2. ® 1985 kHz

3. % 1975 kHz

4. % 1965 kHz
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The momentum of an electron is 6.625x10* kg ms™ . What s its wavelength in nm?

(h=6.625x10"]5)
28 QO[FA [ 395K0 6.625x10 kg ms™. & S0 BYs0 nm ©F Doe?

(h=6.625x10"]s)

Options :

1. % 100

2.+ 1000

3. % 500

4, % 6625

Question Number : 122 Question Id : 3838232682 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The following orbital energies (E) are compared. Identify the correct sets

808 e8)trS $Hen (E) $00 (compare) ToHAFO. DO DO
H80o50b

(I) E,(H)=E, (H)

4

(IT) E,, (H)=E,,(He)

() E,(H)<E, (He)
(IV) E, (He)<E,(H)



Options :

1 % L 1T only (5°(e5)

o w L ILIIL IV

5 = I TV only (S5°(€53)

4 » L IV only (S(€5ad)
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The atomic numbers of elements A, B, D, E respectively are 7, 17, 13, 11, The element which
forms basic oxide among them 1s

A, B, D, E PO HETe) 0500 SENT 7, 17, 13, 11, 78S 6 &F)8 &
28160 Sredo

Options :

1.vE

2 % B
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The electron gain enthalpy (in kJ/mol) of oxygen, sulphur, selenium respectively are

68128, 9035, OA0H0 © JOIFS (Fers 0TI (Kl/mol © &) SR

Options :

1 % —195, =200, —141
5 % =195, —141, —200
3 v —141, =200, —195

4 % —141, =195, =200
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Among the following, the molecule in which all atoms obey octet rule is

808 FES’ ) 90 SO ) HBSTENHEN R AAVIPR) T o0
Options :

1 % BCl3

> % BeHa

3. % SFe

4+ SCl
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Identify the number of molecules having permanent dipole moment from the following

1808 T3S 78585 B 550909 (27050 Ko ©eH© D03 HBoSod
CCl,, NE, H,S, HBr, SF,, SiF,, XeF,, BeCl,, SnCl,, BrF, SO,

Options :

1.% 5
2.¢ 17
3 % 4

4, % 6
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What is the correct equation that relates kinetic energy (Exe) and pressure (P) of one mole of
an ideal gas?

(V= Volume)

28 S 686) ToNHR (B2 (Eie) 80D DS (P) © D5 NoR0GTR)
Se05) BT HEGEID IEQ?
(V= ado)0are20)

Options :



1.4 3V
_ 3V
5 % 2E,,
_3ve
3. ZEkf
:2(5'&)3
4. % 3V
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A hydrocarbon has 85.7% of carbon by weight. 56 g (2 moles) of hydrocarbon was
completely burnt in oxygen and obtained CO, and H,0. What is the weight (in g) of CO;

formed? (C=12u,H=1u,0=16u)

28 WETEINS o gor $8)S 85.7% &) 6. 56 g 2 306 ©) WETE)S
88130 & O 5570 0D CO; B8O Ha0 & 0. 88 €02 2780
(20 ) o&? (C=12u,H=1u,0=16u)

Options:
1.+ 176

2. % 88

3. % 132



4. % 352
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At T(K), the following graph is obtained for an ideal gas

T(K) 58, 2.8 387050930 808 (P 03008
P

5

Which of the following graph correctly represents the work done on the gas (shaded part)?

808 [T ©F, B 0506y 3 2OAX DA (K088 27150) BT 5550 TeYod?

Options:

P
A




-]
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Identify the correct statements from the following
[. Conjugate base of chloric acid 1s C1O

[I. AICI, is a Lewis acid

[11. Conjugate base of NH; is NH,

1808 ¢3S HOTDS s HYoriod

L. §65 e3:05) sr0ernie 30 ClO™

1. AICL 2,8 &> €80

1.  NH, 33w o2 5280 NH;

Options :

, e LIL I

I, 11 only
5w L 11 S5



I1, 111 only
3. o L 1T (&3

[, TIT only
4 % L1 SP(e3
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Identify the correct statements from the following

1808 3 DB T 5O HB0B0S
L. H>0: oxidizes PbS to PbSO4

H203, PbS &0 PbSO4 ™ €38 1885690 M0t
[I.  Hy0: is used in the industrial preparation of sodium perborate
FAON0 HOSTE FBTWE S5 & H10; & &OBFATE

I1I. H>0> 1s insoluble in water

H,0, De3S §65¢

Options:

[, IT only
| o LI Swe

I, I1T only
5w 1 T S8

IL, TIT only
5« 1L 1T S

4 % LILII
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The anions present in baking soda, caustic soda, washing soda respectively are
SRS, TREFE, TAORFIFTOS’ Yd) BSOETSEN SSI

Options :

. % 003 ,OH ,HCO;

, » HCO;,CO; ,OH

5 » CO;,HCO; OH'

4 » HCO; OH™,CO;
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The products formed in the reaction of BeCl> with LiAlH4 are

LiAlHs & BeCly 138565 8¢ (Sasramrsen

Options :

. % Be,Li[AICI,],H,
, » BeH,, LiCl, AICI,

5 = Be,AlH,, LiCL,HCI



4. » BeH,, Li[AICI, ]
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[dentify the reaction in which hydrogen gas is not liberated
EBS TO0HD DG TAHA 985 HBoTSW

Options :
1 = Al(s)+HCl(aq) —
> » NaBH, +1, —

. » BE +LiAH, -

4. % Al(s)+ NaOH(aq) —
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Assertion (A): Silicones are used in surgical and cosmetic plants
Reason (R): Silicones have high thermal stability

Q3)B30(A): NOTROD ¥R D8 ) NODOLRN DA AroBEs LS
1550 S0 HBFHOS e
360 (R):  VOTREN 9O G G5 §E) AT OV

The correct answer 1s
IO INEN N ARG
Options :

(A) and (R) are correct. (R) is the correct explanation of (A)
1 % (A) OO (R) €0 SODDD. (A) 30 (R) SOTDS DdGED

(A) and (R) are correct, but (R) is not the correct explanation of (A)

5 o« (A) DHBAM (R) &0 DB, S (A) 0 (R) BT 58ed ¢

(A) is correct but (R) is not correct

3 % (A) SOOI SR (R) DOTIE 5°¢»

(A) is not correct but (R) is correct
4 % (A) SOTIA 590 5% (R) HOPIE
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The minimum concentration (ppm) of dissolved oxygen in water that is required for the

growth of fish is
B0 EHEOH IO NS §0A €red) 8820 S e (ppm)

Options :

1. % 10
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Observe the following formula

808 &7 K0TS0
C2Hs
ol H
HiC
Cl

The groups/atoms in the plane of paper are
RS0 $06S €55 DTN/ SEATENIHEN

Options :
1' i’ I‘[., CL C
> % CH3, Cl

3, # H, (THE., L1

4. CH;, C2Hs, C
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[UPAC name of neohexyl alcohol is
QA0SO @), Ty IUPAC o

Options :

3, 3 — Dimethylbutan — 2 — ol
| % 3,3-BTO ar§®S -2 - 45

3, 3 — Dimethylbutan — 1 — ol
5 3,3 -BYBS arfBS - 1-aS

2, 3 — Dimethylbutan — 1 — ol
3 % 2,3 - 8BBSOS g - 1 -6

2, 3 — Dimethylbutan — 2 — ol
4 % 2,3 - BFS S -2 - S
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From the following, identify the set that contains all meta directing groups

1806 ¢35’ Q) er ABFE DrFend) S Hosod

Options :

. % ~NHCOCH,, —Cl, —~CHO

2. ® _OCHJ* _NOZ, _NHJ}



3« —CN,—COCH,,-COOCH,

4 » —“OH,—CN,-CH,
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Two statements are given below

18025 DO 3 §D5EN A S2IB)

Statement I: ~ The resonance structure with more number of covalent bonds is less stable

Tl QB0 NNTITEAOD 2OGTENN) B8 BN AT 80)09
Ve 80 GOLNOA

Statement [I:  The position of nuclei does not change in resonance structures

Fsll:  BERTS) domerod 3088 e SrdY

Correct answer 18

INGIOMVINE-AN AN

Options :

Both statement I and 11 are correct

1 % o5 — 1000 §s - 11 DO DT o)

Both statement I and II are incorrect

5 x °§WS— 10O RS - 1 BOLF DD 5%

Statement I is correct but statement 11 is incorrect
3 % 5D [OBSO 520 5§ 11 OB 5°¢D

Statement I 1s incorrect but statement 11 is correct

4 v DS 1 ODIB 5°¢0 57 5§ 11 OB
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A crystal 1s formed by X (cations) and Y (anions). Atoms of Y form ccp and atoms of X
occupy half of octahedral voids and half of tetrahedral voids. What is the molecular formula
of crystal?

28 e300 X (5057 €0) BN Y (S5 e0) © T 8)308. Y
NPV cep A B IGIH, X DOLTEDNYEN G0 ST 2RSS S0\ BN
N0 BEFIFSO S0P &(EDOTTON. )38 @D PEr IO?

Options:
1. % X2Y3
2 % XY3

3 % XsY

4.« X3Y2
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Two statements are given below
Statement I; Liquid A and liquid B form a non-ideal solution with positive deviation,
The interactions between A and B are weaker than A-A and B-B interactions

Statement 11: For an ideal solution, A H=2kJ mol™; A_ V=0

1805 BOCR) aT$R5eN Bed SAF°ON

508 I: (390 A HBOIN B € e QTR ) e3¢3B)¢h (e,
N8GO, A SO0 B © ¢35 983’55 138500, A-A 005 B-B ©
0655 @085 9850 $0%) 0TSO GOETON

a5s I1: &8 ¢y (e A H=2kImol'; A V=0

mix

X iy

Correct answer 18

0N a0 HBodod
Options:

Both statement I and II are correct

1 % $DS 10O e g 11 DO DO

Both statement | and Il are not correct

5w 0§ I DO s § 11 BOCT DO 5°%)

Statement | is correct but statement 11 is not correct

5 v 55 TOBPIE 57 a°s§ 1 SOQDAE 57

Statement I is not correct but statement II is correct
4 % 55 OO 57N 5°R 5§ 1T QO
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At 300 K, aqueous KCl and aqueous K>SO4 solutions were electrolysed separately using Pt
electrodes. The gases liberated at cathodes in these two electrolytic processes are respectively

300 K ¢ KCI 8050 Ki804 20 (Teros Pt Jo[§dsndirhod 3¢ St
DS DENE0 N0, & SO ATToS IEEO SO ddGoThH
TN DT

Options :

. o

2. ® 03* O.’E

3. % HE*OI

4 v Hs Hy
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Identify the correct graph for a first order reaction (A—P)

(x-axis = time; a = initial concentration of A; (a-x) = concentration of A at time t)

28 10D (508 585 (A—P) 50 B [P o H8050d

(x-axis = 5°@0; a= A SO Meed; (a-X) =1t Q) A MPChed)

Options :

A

=1




log(a-x)

3. % A
I a
ﬂﬂ
= (a-x)
LY M
4. P
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A few sols are given below

As2Ss sol; starch sol; ALO, xH,0sol; TiO,s0l; gold sol; congo red sol; blood; methylene
blue sol; CdS sol

The number of positively charged sols in the above list 1

§R), O (808 335G

As:S3 ;6 S; ALO, xH,0 ~r8; Ti0, ~r&; A ~r; soff 8% ~r6; 850
DAL Arrd; CdS 7O

RZNE S ) Evad S dows

Options :

1.¢v 4
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Match the following:

B0 °¢3Q 23¢% DT
List I (Metal) List I (Refining process)
D& -1 (S5r0) erde - 11 (HO |HIED)
A | Ni I Zone refining
OB TS0
B | Si I Liquation
HOQE VP8 B0
C | Sn [II | Electrolysis
DA $3A£20
D | Cu IV | Distillation
5580
A% Vapour phase refining
A (P9 §¢80

The correct answer is
NISINESINVARNTe

Options :
1 ¢A-V, B, C-I, D-I
2 % A-V, B-ll, C-1, D-I11

3 % A-V, B-I, C-IV, D-III

4 % A-1I, B-I, C-III, D-IV
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Identify the correct statements from the following

i. In PCl; equatorial bonds are longer than axial bonds
ii. Zinc reacts with dilute nitric acid to give NO,

11l. Rhombic sulphur is yellow in colour

iv. The reaction 280, (g}-t-Oz(g)—-\E-Ji—-}ZSO}(g), is exothermic

180& a°¢3 HOA DO 55 Hloiod
i. PCl, &' &% 565°0008 2307w &8 0% (axial) 20570 08 EBSD
ii. 208 d@e FE3sm0o & 985 Sod NO, & 390
iii. 070§ J©)5 H0Y BoHES’ &oenod
iv. 250,(g)+0, (2) —2%5280,(g), 2.8 SRFeSE S5
The correct option is
Mo INEN AR
Options :
1, 11, 111 only

1w 1y i, il 07D

i1, 111, 1v only

5 s i, i, iv (&

1, iv only

3 % 1, 1V SIS

iii, iv only

4w il 1V 073
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Correct Marks : 1 Wrong Marks : 0
The 1odine oxide which is used in the estimation of carbon monoxide is

$5)Q ISR AFoN0IB0S” &HBEAOH TBrAS 336

Options :

1 = LO,

2. o 120-

3

3. % 10,

4. 1L,O

Question Number : 149 Question Id : 3838232709 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following oxoacids of phosphorous has two P-H bonds?
1808 F0)ER 65 ) 8ires A Bock P-H 20570 §) aind) &7

Options :

Hypophosphoric acid
| % o8 )08 esso

Orthophosphoric acid
> % &8 )08 @0

Pyrophosphoric acid
3 x 20 )08 8o



Hypophosphorus acid
v o8 P )8R €300
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The metal having highest melting point among lanthanides 1s

erORTEOS e sBE (D255 FdoKe S50

Options :

1. % Ce
2.« Sm

3.% Yb
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Which of the following is correct?

180& ¢35 DB DE?

Options :

Ruby is Al,O, containing 5% Cr’" ions
, 305 5%Cr’" eairSed &) ains)y ALD;



Mn, (CO),, contains two bridged carbonyl groups
, x Mn,(CO),, Both 8 5°8)HBS Herss*ercd §€) aind) &

[Co(NH,),]""is an inner orbital complex whereas [Ni(NH, )™ is an outer orbital complex

[Co(NH,), " 2% @086 e8)trd Hodmo 08 [NiNH,) " 28 ards e8)trd
3.« V030

[Ni(CN), ], [NiCl, ]* both have tetrahedral geometry
4 % [Ni(CN), T, [NiCL J* Bodsr Berar|cde 2msanedd §€) afnar) om
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Match the following:
808 ¢3Q 3¢ HBS0S
List—I (Type of polymer) List — I (Example)
20 - [ (O $50) 2O - 1 (GT8e)
A | Addition polymer — Homopolymer [ |Buna-N
NOEOS FONB - HEFSODrONE 2055 - N
B | Condensation polymer [I | Orlon
DO T MO
C | Addition polymer — Copolymer [IT | Perlan—L
N0EOS OB - Fardab VT -L
The correct answer 1s
NS INENIN VAR NT0)
Options :

1 % A-, B C-1



5 % A-IIL, B-1, C-II

5 % A-II, B-I, C-III

4 v A-II, B-III, C-]
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The amino acid obtained from cheese is

DV 0D DT ADS’ e3:00
Options :
COOH
HoN H
CH:—_H—o0H
1. %
COOH
HoN H



COOH

HoN H
CH>OH
COOH
HoN H
L CH3
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Which of the following is used as substitute for sucrose?

1808 ¢3¢’ BA (8% B0 22N FrcherEn?

Options:

CO_
e
CO~”
qSOE\
NH
SO~
CO~_
e
-

SO2

3.¢¥ -

2. %
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An alkene X (C;H,,) on reaction with HBr gave Y (C;H, Br). Y undergoes hydrolysis via
Sx1 mechanism. What is X?

2,8 80;& X (CH,,) HBr & 1585 08 Y (C.H, Br) & 2)08. Y, Snl So%5s0
TS0 2OD3NE ToKN0O. X AB?

Options :
M
1. %
AN
2. %

*ﬂ?’
)~‘\~U‘f'

4. &
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Correct Marks : 1 Wrong Marks : 0

The products of the following reactions X and Y respectively are

1808 58S red 1700 X SHDBON Y e SEOm

(i) LiAlH: COOH (j) socCh
Y DL o0t & -x
(1) H2O (i1) Hy . Pd-BaSO:
Options :
O
1.4
@,C‘HO @CHO
2. %
@/\OH @/\OH
3. %

4, ® ’
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What are the reagents A, B, C respectively in the following reaction sequence?

1808 3078 (85908 S85°en A, B, C &0 SO D7

—_— X i:J--- Y —» 7

Soluble in A Neutral Soluble in
NaHCO; PO HCl
NaHCO:; &° HCl &'
E5thevod Ehebod

Options :

.« KMnO,|OH™ ; NH, : PO,

, , KMnO,|OH" ; NH, . Br,|OH

; » CrO,CL,H" ; NH,OH : (CH,;C0O),0

, » COCLLH ; NH,OH ;PO

A
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Arrange the following in decreasing order of reactivity towards nucleophilic addition

1808 FE3R Sr8mBradE Hosodo S > WorRed &1 [0S @108

CH;CH,CHO | CH;COCH: @,CHO @,COCH;

A B 5 D

Options :

1.« A>C>D>B



2 A>C>B>D

35 C>A>D>B

4.« C>A>B>D
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Which of the following sequence of reagents convert benzoic acid to benzaldehyde?

808 & 5°85°® (£:00 BoE WS 8aFR) BorE)arE 1 SrE)0d?

Options:

. » CH,OH,H'; (i) DIBAL-H (ii)H,0

, « SOCL,; H,|Ni

5« C,H;OH,H"; LiAlH,.H,O

, » LIAIH, H,0; KMnO, |H
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An organic compound C?H5Non reduction with reagent X gave Y. Reaction of Y with
p-toluene sulphonyl chloride gave Z which is insoluble in alkali, X and Y respectively are

2,8 88)% dagido CHN & 52880 X &' §ah88eao TaDmr Y & 3000,

p-SOS NSHITO §FBES' Y 30% 385 608 §6H56050¢ Z 381508
X 0800 Y &0 SSm™

Options :

e, G
NHCHj3
NaBH: @
k3
. NH:
H2|Ni @/\

3. %

NHCHj3
Hx|Ni o

4.

2.



